3/30/2022 5:22 PM

s:\projects\republic doors\tdi-22-0116 tdi submittal - dr551, dr999, dr1000, dr1001, dr1002\dwgs\4. dl416 outswing louvered door (id 7116)\rdf019 dl416 louvered door.dwg

REPUBLIC DOORS AND FRAMES

INSTALLATION NOTES:

\-

1. ONE (1) INSTALLATION ANCHOR IS REQUIRED AT EACH ANCHOR

LOCATION SHOWN, UNLESS OTHERWISE STATED.

. THE NUMBER OF INSTALLATION ANCHORS DEPICTED IS THE

MINIMUM NUMBER OF ANCHORS TO BE USED FOR PRODUCT
INSTALLATION.

. INSTALL INDIVIDUAL INSTALLATION ANCHORS WITHIN A

TOLERANCE OF +1/16 INCH OF THE DEPICTED LOCATION IN THE
ANCHOR LAYOUT DETAIL (I.E., WITHOUT CONSIDERATION OF
TOLERANCES). TOLERANCES ARE NOT CUMULATIVE FROM ONE
INSTALLATION ANCHOR TO THE NEXT.

4.FOR INSTALLATION INFORMATION AND ANCHOR LAYOUTS ON

JAMBS AND SILL, REFER TO SHEET 5.

MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDE WALL

FINISHES, INCLUDING BUT NOT LIMITED TO STUCCO, FOAM, BRICK

VENEER, AND SIDING.

. INSTALLATION ANCHORS AND ASSOCIATED HARDWARE MUST BE

MADE OF CORROSION RESISTANT MATERIAL OR HAVE A
CORROSION RESISTANT COATING.

.FOR GROUT FILLED BLOCK, DO NOT INSTALL INSTALLATION

ANCHORS INTO MORTAR JOINTS. EDGE DISTANCE IS MEASURED
FROM FREE EDGE OF BLOCK OR EDGE OF MORTAR JOINT INTO
FACE SHELL OF BLOCK.

.INSTALLATION ANCHORS SHALL BE INSTALLED IN

ACCORDANCE WITH ANCHOR MANUFACTURER'S
INSTALLATION INSTRUCTIONS, AND ANCHORS SHALL NOT BE
USED IN SUBSTRATES WITH STRENGTHS LESS THAN THE
MINIMUM STRENGTH SPECIFIED BY THE ANCHOR
MANUFACTURER.

.INSTALLATION ANCHOR CAPACITIES FOR PRODUCTS

HEREIN ARE BASED ON SUBSTRATE MATERIALS WITH THE
FOLLOWING PROPERTIES:

A. WOOD - MINIMUM SPECIFIC GRAVITY OF 0.42.

B. CONCRETE -MINIMUM COMPRESSIVE STRENGTH OF 3000 PSI.
C. GROUT-FILLED CMU - UNIT STRENGTH CONFORMS TO ASTM

C-90 & GROUT CONFORMS TO ASTM C 476. GROUT SHALL HAVE

MINIMUM COMPRESSIVE STRENGTH OF 2000 PSI.

DL416 LOUVERED STEEL DOOR

GENERAL NOTES:

1. THE PRODUCT SHOWN HEREIN IS DESIGNED AND MANUFACTURED TO
COMPLY WITH THE 2018 INTERNATIONAL BUILDING CODE (IBC) AND
INTERNATIONAL RESIDENTIAL CODE (IRC) AND HAS BEEN EVALUATED
ACCORDING TO THE FOLLOWING:

o TAS 201-94
o TAS 202-94
o TAS 203-94

2. ADEQUACY OF THE EXISTING STRUCTURAL CONCRETE/MASONRY, 2X
AND STEEL STUD FRAMING AS A MAIN WIND FORCE RESISTING SYSTEM
CAPABLE OF WITHSTANDING AND TRANSFERRING APPLIED PRODUCT
LOADS TO THE FOUNDATION IS THE RESPONSIBILITY OF THE ENGINEER
OR ARCHITECT OF RECORD FOR THE PROJECT OF INSTALLATION.

3. 1X OR 2X BUCKS (WHEN USED) SHALL BE DESIGNED AND ANCHORED TO
PROPERLY TRANSFER ALL LOADS TO THE STRUCTURE. BUCK DESIGN AND
INSTALLATION IS THE RESPONSIBILITY OF THE ENGINEER OR ARCHITECT
OF RECORD FOR THE PROJECT OF INSTALLATION.

4. THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC
AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC IF SITE
CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

5. APPROVED IMPACT PROTECTIVE SYSTEM IS NOT REQUIRED
TO PROTECT THIS PRODUCT IN AREAS REQUIRING IMPACT
RESISTANCE.

6. STEEL COMPONENTS SHALL BE COATED OR PROVIDED WITH CORROSION
RESISTANCE PROTECTION.

7.DOOR & FRAME MATERIAL: STEEL 16 GAUGE (0.053") MIN.
FY MIN. = 45.7 KSI

8. DESIGNATION "X" STANDS FOR THE FOLLOWING:
X: OPERABLE PANEL

9. ALTERNATE LOCKING AND OPERATING HARDWARE MAY BE USED SUCH
THEY ARE CURRENTLY APPROVED UNDER A SEPARATE APPROVAL.
INSTALLATION SHALL MAINTAIN THE MINIMUM REQUIREMENTS &
LIMITATIONS OF USE OF THE SEPARATE COMPONENT APPROVAL AND
THE DETAILS HEREIN. THE LESSER DESIGN PRESSURE AND RATING OF
THE COMPONENT APPROVAL AND APPROVAL HEREIN SHALL GOVERN.

DESIGN PRESSURE RATING FOR LOUVERED DOOR ASSEMBLY

DESIGN PRESSURE ALL SIZES

MISSILE IMPACT RATING

*WITHOUT

+60/-60 PSF WATER INFILTRATION

SMALL & LARGE
MISSILE
IMPACT RATED

*UNIT SHALL BE INSTALLED AT LOCATION PROTECTED BY OVERHANG SUCH
THE OVERHANG RATIO (OH) = OH LENGTH/OH HEIGHT GREATER THAN 1.0

WHERE WATER INFILTRATION IS REQUIRED.

STEEL DOOR CONSTRUCTION:

THE OVERALL PANEL THICKNESS IS 1 3/4 INCH THICK. THE DOOR HINGE AND LOCK CHANNELS ARE 1.677" X
0.62" X 94.875" INCH WIDE AND ARE CONSTRUCTED FROM 16 GAUGE (0.053") COLD-ROLLED STEEL. THE
DOOR TOP AND BOTTOM END CHANNELS ARE 1.677" X 0.62" X 47.563" AND ARE CONSTRUCTED FROM 16
GAUGE (0.053") COLD-ROLLED STEEL. THE DOOR SKINS / FACE SHEETS ARE CONSTRUCTED OF 16 GAUGE
(0.053") COLD-ROLLED STEEL AND ATTACHED TO THE END, HINGE AND LOCK CHANNELS. THE DOOR CORE IS
CONSTRUCTED OF TYPE 99-0-3/4 KRAFT PAPER HONEYCOMB CORE AND ATTACHED TO THE FACES WITH GLUE.
THE DOOR HINGE REINFORCEMENTS ARE 1.375" X 4.5" AND ARE CONSTRUCTED FROM 9 GAUGE (0.132")
COLD-ROLLED STEEL. THE MORTISE DOOR LOCK REINFORCEMENTS ARE 1.677" X 5.313" X 14" AND ARE
CONSTRUCTED FROM 14 GAUGE (0.072") COLD-ROLLED STEEL. THE CONTINUOUS DOOR HARDWARE
REINFORCEMENTS ARE 1.677" X 6" X 85" AND ARE CONSTRUCTED FROM 14 GAUGE (0.072") COLD-ROLLED
STEEL. THE DOOR EXIT DEVICE REINFORCEMENTS ARE 1.677" X 5.313" X 14" AND ARE CONSTRUCTED FROM 14
GAUGE (0.072") COLD-ROLLED STEEL. THE DOOR CLOSER REINFORCEMENTS ARE 1.677" X 6" X 18" AND ARE
CONSTRUCTED FROM 14 GAUGE (0.072") COLD-ROLLED STEEL. THE DOOR INACTIVE LEAF ASTRAGAL IS 1.70" X
95.125" AND IS CONSTRUCTED FROM 14 GAUGE (0.072") COLD-ROLLED STEEL. THE DOOR DEAD LOCK
REINFORCEMENTS ARE 3" X 3" AND ARE CONSTRUCTED FROM 16 GAUGE (0.053") FORMED STEEL. THE DOOR
CYLINDRICAL LOCK REINFORCEMENTS ARE 3" X 2.5" AND ARE CONSTRUCTED FROM 16 GAUGE (0.053")
FORMED STEEL. THE DOOR SURFACE BOLTS ARE ROCKWOOD 585 SURFACE BOLTS LOCATED AT THE TOP AND
BOTTOM MEETING EDGE CORNER OF THE INACTIVE LEAF.

FRAME CONSTRCUTION:

THE DOOR FRAMES ARE CONSTRUCTED FROM 16 GAUGE (0.053") COLD-ROLLED STEEL. THE CORNERS ARE
MITERED KNOCK DOWN MECHANICALLY FASTENED. THE DOOR FRAME CORNER REINFORCEMENTS ARE
KNOCK DOWN. THE DOOR FRAME HINGES ARE PBB 4.5" X 4.5" X 0.134" FULL MORTISE BUTT-TYPE STANDARD
WEIGHT HINGES. THE DOOR FRAME HINGE REINFORCEMENTS ARE 7.50" X 1.625" AND ARE CONSTRUCTED OF
9 GAUGE (0.132") COLD/HOT-ROLLED STEEL. THE DOOR FRAME HEADER REINFORCEMENTS (REQUIRED ON
PAIR OPENINGS) ARE 5.6875" X 96" AND ARE CONSTRUCTED OF 14 GAUGE (0.072") FORMED STEEL OR
OPTIONAL 10 GAUGE (0.125") X 1.5" FLAT BAR STOCK. THE DOOR FRAME BASE ANCHORS ARE 1.875" X 1.875"
AND ARE CONSTRUCTED OF 16 GAUGE (0.053") FORMED STEEL.

TABLE OF CONTENTS

SHEET SHEET DESCRIPTION

INSTALLATION & GENERAL NOTES

SURFACE VERTICAL ROD ELEVATIONS & DETAILS

CYLINDRICAL W/ DEADLOCK ELEVATIONS & DETAILS

MORTISE LOCK ELEVATIONS & DETAILS

ANCHOR LAYOUT

VERTICAL SECTIONS

HORIZONTAL SECTIONS

CORNER ASSEMBLY & COMPONENTS

Ol |IN|J]OO |V ]| BR|W[IN|F

BILL OF MATERIALS & COMPONENTS

doors-frames

155 REPUBLIC DRIVE
MCKENZIE, TN 38201
PH: (800) 799-3667 FX: (731) 352-2556

BUILDING DROPS, INC.
DANIA BEACH, FL 33004
PH: (954)399-8478
FAX: (954)744.4738
WEB: www.buildingdrops.com

DL 416 LOUVERED ST. DOOR
SURFACE VERTICAL ROD
ELEVATIONS & DETAILS

398 E. DANIA BEACH BLVD., STE. 338

PREPARED BY:
L

TITLE:

JBUILDING DROPS

REMARKS BY | DATE

2018 IBC UPDATE CA 3.28.224

THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERI(]
[AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIQ
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

.
.......

S
“ﬁ@@%gs

BUILDING DROPS, INC
398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION No. 29578

Reason: | am approving this document
Date: 2022.05.27 13:35:53 -04'00'

pate: 03.16.17

|Digitally signed by Hermes F. Norero, P.E.

DWG. BY: CHK. BY:
MSS HEN

SCALE: NTS

owe.# RDF019

SHEET:

1

OF9J




3/30/2022 5:22 PM

s:\projects\republic doors\tdi-22-0116 tdi submittal - dr551, dr999, dr1000, dr1001, dr1002\dwgs\4. dl416 outswing louvered door (id 7116)\rdf019 dl416 louvered door.dwg

100.00" MAX.
UNIT WIDTH
96.00" MAX.
PANEL WIDTH

*TYPICAL HINGE LOCATIONS

48.00" MAX.

| 2.00"— PANEL WIDTH

48.00" MAX.
PANEL WIDTH

—= [~—2.00"

4

QO [~ | @006

*TYPICAL HINGE LOCATIONS

*FASTENERS SHOWN ARE TYPICAL/MINIMUM

52.00" MAX.
UNIT WIDTH
48.00" MAX. 500"

2.00" == PANEL WIDTH

4

doors-frames

155 REPUBLIC DRIVE
MCKENZIE, TN 38201
PH: (800) 799-3667 FX: (731) 352-2556

6D

® @

|
500" | Y | a
T AT e e —Tl-o
. 30500 \&/
96.00 @ @)
MAX.
:SEIEI:I' 60" © H v 66.125"
8 ! N K G ’ x Gore Y Kore MAX
1.50 7 7 7 l x W OVERALL
LOUVER
HEIGHT
98.00" .
MAX. =
UNIT gy - &)
HEIGHT O
8D,
@ — £ ‘\ @
ACTIVE . INACTIVE/

R

@.

ELEVATION DOUBLE

SURFACE VERTICAL ROD

(OUTSWING DOOR -

/— DETAILB

N

INTERIOR

N

INTERIOR VIEW)

/— DETAILA
-~

=

_~"TINTERIOR >~
-, N

/@
/
o N —

\ood ,

25.625" MAX.
OVERALL
LOUVER WIDTH

GROUT FILLED

==
-~

_~"TINTERIOR >~

\\ EXTERIOR e

- —_

REFER TO DETAILS ON SHEET \\
N i 6 FOR STRIKE PLATE AND AN
FASTENING DETAILS

DETAILA

DETAILB

5.00" = = =
e [ J{giﬁ-—@
96.00" 30.50 . @
MAX.
PANEL 56.00" @
HEIGHT 66.125"
MAX
KV G
81.50" 7 = @ OVERALL
| M
na HEIGHT
98.00" o I In
MAX. o in
UNIT @Bt
HEIGHT
€@— =
ACTIVE _

GROUT FILLED

HINGES SECURED TO FRAME
W/ (4) %" 10-24 MS SCREWS
AND TO DOOR W/ (4) %" X
10-24 MS SCREWS

25.625" MAX.

[}
OVERALL

&
LOUVER WIDTH

ELEVATION SINGLE

SURFACE VERTICAL ROD
(OUTSWING DOOR - INTERIOR VIEW)

/— DETAILC

-
4

Q

INTERIOR

EXTERIOR

_—————
-

_-" INTERIOR >~

LOCK STILE /
EXTERIOR 7/

DETAILC

DL 416 LOUVERED ST. DOOR
INSTALLATION & GENERAL NOTES

PREPARED BY:

TITLE:

BUILDING DROPS, INC.

398 E. DANIA BEACH BLVD., STE. 338

DANIA BEACH, FL 33004

PH: (954)399-8478
FAX: (954)744.4738
WEB: www.buildingdrops.com

JBUILDING DROPS

REMARKS

BY

2018 IBC UPDATE

CA

[THE INSTALLATION DETAILS DESCRIBED

HEREIN

RE GENERIQ

(AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIQ
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

.
.......

WS, c
ﬁﬁ%@%ﬁg

BUILDING DROPS, INC
398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION No. 29578

pate:  (03.16.17
DWG. BY: CHK. BY:

MSS HFN
SCALE: NTS
owe.# RDFO19
SHEET:

2

OF

o _J




3/30/2022 5:22 PM

s:\projects\republic doors\tdi-22-0116 tdi submittal - dr551, dr999, dr1000, dr1001, dr1002\dwgs\4. dl416 outswing louvered door (id 7116)\rdf019 dl416 louvered door.dwg

100.00"

*TYPICAL HINGE LOCATIONS

| 2.00" —=

4

UNIT WIDTH
96.00" MAX.
PANEL WIDTH

48.00" MAX.
PANEL WIDTH

MAX.

48.00" MAX. "
— ~=—2.00
PANEL WIDTH

Jsloiiclo

96.00"
MAX.
PANEL
HEIGHT

98.00"
MAX.
UNIT

HEIGHT

81.

50"

56.

00"

30.

5.00"

50" ?

Gorr K opP

— l

®

ACTIVE

66.125"
MAX
OVERALL
LOUVER
HEIGHT

INACTIVE

& ® |

i
D

25.625" MAX.
OVERALL
LOUVER WIDTH

ELEVATION DOUBLE

CYLINDRICAL WITH DEADLOCK

(OUTSWING DOOR -

(/— DETAILD

INTERIOR VIEW)

INTERIOR

DETAILF
/——\A
\

DETAIL F

REFER TO DETAILS ON SHEETS
6 AND 7 FOR STRIKE PLATE
AND FASTENING DETAILS

DETAIL D

*TYPICAL HINGE LOCATIONS |

4

2.00" —=

52.00" MAX.
UNIT WIDTH
48.00" MAX.
PANEL WIDTH

*FASTENERS SHOWN ARE TYPICAL/MINIMUM

— ~—2.00"

5.00"

30.50" *

96.00"
MAX.
PANEL | 5600" @
HEIGHT
N K G
81.50" =
98.00"
MAX.
UNIT
HEIGHT

A 66.125"

M MAX

l@? \"/ OVERALL
L LOUVER
L HEIGHT

ACTIVE

A

25.625" MAX.

OVERALL
LOUVER WIDTH

ELEVATION SINGLE

CYLINDRICAL WITH DEADLOCK
(OUTSWING DOOR - INTERIOR VIEW)

DETAILE
INTERIOR /
-~
/
\\\—//
EXTERIOR
HINGES SECURED TO FRAME
W/ (4) %" 10-24 MS SCREWS T~ -
AND TO DOOR W/ (4) %" X -~ INTERIOR ~<
10-24 MS SCREWS >~
\
\
\
\ \
) \
] ‘|
- . J
al|e0®
T~ 0%® ;
\ LOCK STILE /
\ /
AN EXTERIOR S
N 7/
~ 7
\\ //

DETAIL E

oors-frames

155 REPUBLIC DRIVE
MCKENZIE, TN 38201
PH: (800) 799-3667 FX: (731) 352-2556

BUILDING DROPS, INC.
DANIA BEACH, FL 33004
PH: (954)399-8478
FAX: (954)744.4738
WEB: www.buildingdrops.com

398 E. DANIA BEACH BLVD., STE. 338

DL 416 LOUVERED ST. DOOR
CYLINDRICAL W/ DEADLOCK
ELEVATIONS & DETAILS

PREPARED BY:
L]

TITLE:

|BUILDING DROPS

REMARKS BY

2018 IBC UPDATE CA

[THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERI]
[AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFI]
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

.
.......

S'é}
ﬁm&@ﬁgs

BUILDING DROPS, INC
398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION No. 29578

pate:  (03.16.17
DWG. BY: CHK. BY:

MSS HFN
SCALE: NTS
owe.# RDF019
SHEET:

3

OF9)




3/30/2022 5:22 PM

s:\projects\republic doors\tdi-22-0116 tdi submittal - dr551, dr999, dr1000, dr1001, dr1002\dwgs\4. dl416 outswing louvered door (id 7116)\rdf019 dl416 louvered door.dwg

*TYPICAL HINGE LOCATIONS

|

2.00" —=—

48.00" MAX.
PANEL WIDTH

100.00" MAX.

UNIT WIDTH
96.00" MAX.

PANEL WIDTH

48.00" MAX.

— ~—2.00"

PANEL WIDTH

olle

96.00"
MAX.
PANEL
HEIGHT

98.00"
MAX.
UNIT

HEIGHT

81.

50||

56.

00"

30.

L
5.00"

K= e

*FASTENERS SHOWN ARE TYPICAL/MINIMUM

@

Gorr K ore

8A

/— DETAILG

ACTIVE

ELEVATION

&2

~

-~
INACTIVE

® @

DOUBLE

€9
\,\

25.625" MAX.
OVERALL
LOUVER WIDTH

MORTISE LOCK WITH DEADLOCK

(OUTSWING DOOR -

INTERIOR

N N

DETAIL H

INTERIOR VIEW)

/— DETAILH

7~

GROUT FILLED

52.00" MAX.
UNIT WIDTH
*TYPICAL HINGE LOCATIONS " 48.00" MAX. "
| 200 =~ paNELWIDTH — ||~ %
| 9 -
J
5.00" ! % : e
? i < 6 >>
96.00" 30.50 & @
MAX.
PANEL | 56.00" @
66.125" HEIGHT 66.125"
MAX MAX
NV KV G
OVERALL 81.50" > @ OVERALL
LOUVER x yr-- i v LOUVER
HEIGHT ol HEIGHT
98.00" aESyH—©D)
MAX. L
UNIT
HEIGHT
&— =
ACTIVE S~
25.625" MAX.
OVERALL

LOUVER WIDTH

ELEVATION SINGLE

MORTISE LOCK WITH DEADLOCK
(OUTSWING DOOR -

INTERIOR VIEW)

GROUT FILLED DETAIL |

INTERIOR

HINGES SECURED TO FRAME

Y1024 MS SCREWS T T T -
W/ (4) %" 10-24 MS SCREWS o TNTERIOR ~<_

/
AND TO DOOR W/ (4) %" X
10-24 MS SCREWS

\ /
LOCK STILE
REFER TO DETAILS ON SHEETS| N N S
6 AND 7 FOR STRIKE PLATE AN N_  EXTERIOR e
AND FASTENING DETAILS S~ AN e

DETAIL G DETAIL |

oors-frames

155 REPUBLIC DRIVE
MCKENZIE, TN 38201
PH: (800) 799-3667 FX: (731) 352-2556

J &
o =3
[7,) ~ - < Q
[alNe) SV )
R O i ® % T
= B r2zosg
S QASTaLE
o oyv SE333
ol CRELLE
L - %
E ~ = zzz z 5
> 8 E [a == &
o = s
O L% 58
— wn ..o "
O = > o
- [aa] o
<t O () S
I w =
(a)] [ []
.. < =
w o =
E & =
|l [a% =
==K
REMARKS BY | DATE
2018 IBC UPDATE CA [3.28.22
THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERI(]

[AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIQ
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

.
.......

S'é}
ﬁm&@ﬁgs

BUILDING DROPS, INC
398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION No. 29578

paTe:  (03.16.17

DWG. BY: CHK. BY:
MSS HFN

SCALE: NTS

ows.#: RDFO19

SHEET:

4

OF9/




3/30/2022 5:22 PM

s:\projects\republic doors\tdi-22-0116 tdi submittal - dr551, dr999, dr1000, dr1001, dr1002\dwgs\4. dl416 outswing louvered door (id 7116)\rdf019 dl416 louvered door.dwg

100.00" MAX.
4.00" MAX. FROM UNIT WIDTH
CORNERTYP
22.50"
98.00" MAX
MAX. o0.c ’
UNIT | FIVE (5) 3/8" DYNABOLT SLEEVE ANCHORS
HEIGHT PER JAMB
DOUBLE DOOR ANCHOR SPACING
FOR MASONRY SUBSTRATE
| SINGLE DOOR SIMILAR |
/‘:\\
L .
8.50" FROM S~ DETAL W 4f/
CORNERTYP
11" MAX.
O.C. TYP.
B
VINYL BULB
5050B-20 THRESHOLD
NATIONAL GUARD PRODUCT
EXTERIOR 803V THRESHOLD
1/4" ITW TAPCON sestsclossess
INSTALLATION ANCHOR ogseesegscese
W/ 11/4" MIN. EMBEDMENT Sesesesessses 100"
2700 PSI MIN. Sesesssesesss
CONCRETE \ *
<o - L B 1.25" MIN.
PRV B e e EMBEDMENT
- . 49 - 4,9 ey
2.5" MIN. EDGE ?
DISTANCE

THRESHOLD DETAIL (SILL)

NOTE: REVERSE POSITION OF BASE

SILL ANCHOR

ADDITIONAL BOLT IN LIEU OF BASE
PLATE FOR EXISTING
CONSTRUCTION ONLY

(SEE NOTE BELOW DETAIL "W")

6.00" MAX.
FROM CORNER

TYP

INSTALLATION ANCHOR
SEE TABLE 1, SHEET 5

NOTE: JAMB CORNER BASE PLATE IS ONLY
USED FOR NEW CONSTRUCTION AND IS NOT

100.00" MAX.

4.00" MAX. FROM
CORNERTYP

$

*FASTENERS SHOWN ARE TYPICAL/MINIMUM

UNIT WIDTH

=
|1

18.00"
MAX.
98.00" O.C.
MAX. H
UNIT
HEIGHT

// :\\

SIX (6) 3/8" LAG BOLT
ANCHORS PER JAMB

DOUBLE DOOR ANCHOR SPACING

FOR WOOD SUBSTRATE
(SINGLE DOOR SIMILAR)

4.

'_
00" I
ADDITIONAL BOLT IN LIEU OF BASE
PLATE FOR EXISTING
& /—Z X CONSTRUCTION ONLY
i \ (SEE NOTE BELOW DETAIL "W")

8.00" FROM
CORNERTYP

11" MAX.
O.C. TYP.

‘\\—/¥ 4L/‘\\_’//
DETAIL W

6.00" MAX.

!
R

T
°

TWO (2) 3/16" ITW TAPCONS
(2.25" MIN. 0.C.)

POSSIBLE FOR EXISTING CONSTRUCTION. IN
LIEU OF BASE PLATE ANCHORS, ADD ONE (1)
ADDITIONAL 3/8" DYNABOLT SLEEVE ANCHOR
INTO MASONRY OR 3/8" LAG BOLT INTO
WOOD SUBSTRATE ON JAMBS FOR EXISTING
CONSTRUCTION.

WELDED-ON
BASE ANCHOR

DETAIL W

PREPARED OPENING CHANNEL
ANCHOR MINIMUM CONCRETE
STRENGTH AT SILL AND JAMB:
2700 PSI. FOR USE WITH 3/8" X 5"
DYNA SLEEVE BY REDHEAD/ITW

MIN. 2000 PSI GROUT FILLED (SEE INSTALLATION
NOTE 9, SHEET 1) & STEEL REINFORCING BAR AS
REQUIRED BY CODE

JAMB CORNER BASE PLATE

S| LL\~ INSTALLATION ANCHOR

SEE TABLE 1, SHEET 5

——| ’«— FROM CORNER
-
-

TYP

TABLE 1: CONCRETE ANCHORS AT THRESHOLD

2.25" MIN.

1/4" ITW Tapcon 1.25 2.25
1/4" Powers Tappers+ 1.75 2.5
1/4" Hilti Kwik Con I 1

1/4" Elco Ultracon 1

N
Republie

doors-frames

155 REPUBLIC DRIVE
MCKENZIE, TN 38201
PH: (800) 799-3667 FX: (731) 352-2556

DL 416 LOUVERED ST. DOOR
ANCHOR LAYOUT

TITLE:

398 E. DANIA BEACH BLVD., STE. 338
DANIA BEACH, FL 33004
PH: (954)399-8478
FAX: (954)744.4738
WEB: www.buildingdrops.com

BUILDING DROPS, INC.

PREPARED BY:
|BUILDING DROPS

REMARKS

BY | DATE

2018 IBC UPDATE

CA 3.28.22

[THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERI(]
[AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFI]
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

ENS
e, e
\\Ss/g e
FLORI .. »No 73
BUILDING DROPS, INC
398 E. DANIA BEACH BLVD. # 338

DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION No. 29578

=

. P4
O.=
=

.E.

778

REQUIRED BY CODE

TWIST-IN PREPARED

PIPE ANCHORS TACK

WELDED INTO PLACE

FOR USE WITH 3/8" X 5"

DYNA SLEEVE BY REDHEAD/ITW

MIN. 2000 PSI GROUT FILLED (SEE INSTALLATION
NOTE 9, SHEET 1) & STEEL REINFORCING BAR AS

paTe:  (03.16.17
DWG. BY: CHK. BY:

MSS HFN
SCALE: NTS
ows.# RDF019
SHEET:

5

OF9)




— [ (g
. . . Frl=gal
wodsdoJp3ulp|ing MmMm :g3M mmﬂm_n_ m_z_m.__—._m W N mum%m
. . o0 e
({3 @ 8ELY'YYL(pS6) XVd - <|& BSEEC .
. - <o Sa 2 ©
2 8LY8-66€(1S6) ‘Hd o $Io553 g 92}
o o0 EE <ws| 1
N ‘ Q= _ & a
== @  VOOEE 14 'HOV38 VINV. > | < z228252 o & sl
l o — 8€€ "31S "dA1d HOV34 VINVA ‘3 86€ [aa] O WWWREADU . H4M m 9 O
238 "JNI ‘SdO¥d 5NIa1INg SE3iie S2g33 SIET
n (O 58C EEEEE B339 | —
amn~— mZunYa ~ v @ T
' - . @Z23a Sg8Blk . (@)
C gz ‘A9 d34¥vd3dd EoSZ3E eg=y wI|° (¥s)
)
f— @7 w MAMMWW 5559 L
2 = 2 n i O o 1
' FANER = MGOELY z<85 . = ()]
AR < T <Z25E o z2z<g
Z o o Z-5sE0 CEEE
n 5 a LOQ2T 954820
¢ 288 5 Sickly 23552 ol.w»n
~ =) zLSs5% & ..
= SNOILI3S TVIILY3A %) CEZ3xg & 3 > "
_._.l.“v =] ¥ | O mmwMOM L~ o w*= f..
[~) 3
e <12 22EeE3 & wle| |6 |5
. . sE ol [
o £ 400d "LS d3’3IANo1 9Ty 1d S| FzlCz8 il B =z W
— z>=29 <€ W W
o : wlo LopEl3 il =) a2 |5
UL x| HSEE
= <
I
B
T o= .
— e =
.~
s = 2552
5 oL SnkE
= o) M — noom Z v
=z avy Ox kI NG x =
= | = S < = s O I
= owm L=z 0 ZhHhITLh
< PN V>SS sSIoZa
< — S T w=>a
(@] o o a w w
= WX ux IR0
o o ~
> Z o = W x. 0
= w oo o QO gWw
w Ho® o) (o o Q) w < ) < ) o WO T2
— -\~ — ~ = (=) — o0 — — Nl =
< LT = <>
w = S
= OS5 wih
o) T =
T . W % w >
) L0532 N
n aZ<zy ~
o 51 = 9 z O 19
w TTIN SeZ 002 o
m wn > 0 ™S wa Ow -—
z 2L =2
(4] g < W <
2 Sk O[5
w =
* 0w T — i o
oa®n < < < < Ll
= = \K n S _uln
A v ; \u_ Wm [ ) M
e e 0 0 00000 ePsP0e0sreeertSoeesPOUL 0000000000000 000000000000000000000000000008 - b4
1000000000000000000000006 50000066004 0000 000000000000000000000000 4 1000000000000)00000000000000000000000000000000¢ o
100000000000000000000000040000000004 100000000000000000000000000000000000000000000040000000)000000000600000¢ 0000 00000000800000000000000000060060000000000061(
100600000000000000000000000600000004 100 6000000000000000000000000000000000000000000000000006,60000000060600000¢ 1000 000000000000000000000000000000000000060600604 o
100 0000000000000000000000000060000¢ 10000000000000000000000000000000000000000000000000000000000000000600666¢ 0600000000000 00000000000000000006000000600600006(
00000000000000000000000000000000000 e e 00000000000 00000000000000000000000000000000000000000000000000060006¢ 100000000000000000000000000000000000000000000060 =
00000 000000000000000000000000006004 100 000000000000000000000000000000000000000000000000000)0000000000000000¢ 100000000000000000000600000006000000060000000600066(
1000000000000 000000000000000006666¢ LE 0000000000000 0000000000000000000000000000000000000000000000000000000¢ 100 00000000000000000000000000000000000000660060¢ w
100600000000000000000000000000000004 10000000000000000000000000000000000000000000000000000000000000606006066¢ 00 00000000000000000000000000000600606000000000061( —
100600000000000000000000000000000004 100 600000000000000000000000000000000000000000000000001)00000000000600000¢ 100 0000000000000000000000000000000000000060600604 )
0000000000000000000000000000000000¢ 1000000000000000000000000000000000000000000000000000¢.60000000000000060¢ 0600000000000 00000600000000000000000000000080001 w
$00000000000000000000000000000000004¢ g 100000000000 0000000000000000000000000000000000 ¢ n
s 00000000000 000000000060006000004 i 1600660000000 000000060000006000060600606000¢ = — =
o
/ Z w «wn OO o
T T W w O+ Ll
ST I w b=
(%] o w
ww Zwun oy > T
3588 gl 25
< = = <
Zx 85 5 23 ouy
n O = o N =Z = < <
LN
~ (@) w =w ==
— N X = S uw < w
H x x %) w
20 (ke
owo w " v
XA~ = =2
= - w NJ -
[Fo T -
a2 - T 3=
X7 x E ad Z
g, = Z3 =
- N = =20 =
o (%] SnakE -
e M — noom Z 4y
7] H =
| e . SxtFE 3/.ﬁ ST
oin <z 0 ZuI o
o ¥>5w SEgZo
[l T o a w za L
< O
[T o Wz ~ O
=z w=+ "' Q
o =] o == o
W o o =O<
* ) (o O o o (<] w o (<)) o L
< wn = —/)\a ) ~ =] — = 0 — =) N -T2
= LT =4 wE >
z =
w - = 2Zs =2
Q Swntm N ~
T | =
LW % w > (8]
<O [~ya] o
IS Quw o
(U] W 20 =
L 92002 - <
L SNwa Ow wi
v > 0 o
<=+
= < w W=
- w S —
0T < < < < n =
oo > © - |
o L 1 m
o e e a0 0o oeeeeeesoss soseeeese M e eseeeeessssscessossesesessossssd " 00 0000000000)00000000000000000000000000000000s -
[0eesessscssesesssscssssscicesssssse -
)PS0 I0T00000000000000000000000000000(0000000556550811008586006500500 10000000000600000000000000000006000000000060000606( C
b 5SS A SO 10000000)000000000000000000000000000000000000000000000(00000000000000804 1000000000000000000000000000000000000000000600¢ <
0666001)0000000000000000000000000000000000000000000000060000000000000004 000 000000000000000000000000000000000000000606006( -—
00000 0 00e000000000000000000000000000000000000000000¢00000000000000000 O 0000000 0e et ereeeeeesonsoesssresecesssrst =
06 0000000 e et et eeeeeeeeees 1000060)0000000000000000000000000000000000000000000000000006000006000004 1000060000000000000060000000000000000000000060 -
000000000000t e0eteese0seeeetssees 16000070000000000000000000000000000000000000000000006)006000000060000000¢ 16000000000000000000000000000066000600000000800( [-'4
OSSOSO 100000000000000000000000000000000006000000000000000000(00000000006000006060¢ 10000000000000000000000000000000000600006060000¢
05t SO ES 1000000000000 000000000000000000000000000000000000000000000000000000004 1000000000000000000000000000006000600000060000606¢ [a]
00N IS KX KX G L O L L L L L L LX) Seseoercpeccosececcosocsrcecosocsesosetecesssssstssisietisesesroisect (XXX XX XXX OOC XXX XXX XXX XXX XXX XXX XXX UL XXX =
s $000000006000000000080000600000 [ S S OSSOSO [ Fea e e et asasaseanasastanasacaseasesasassanal =
H / -0 o i bl | S
T T = - o >
Z W Im (8]
W T
ow
Wwzu =5 =z
o M (@] (=) —— ) < ..Dr
< —_ W =z -
=
= gl @ < o S & M m_ £a
0= N = N © | =
Y i < =
N X = = < w
. X > = w = W
ow o Ll S w 5o
P =N n =
= W =
Vo T —
|
237 ooz
= 0 —F =
LN oo > z >
- X S =z =,
- [ w o .
Ox I N T <L
_ S2Iz0 NEg:2
; = ; T
$S55 zZh<aih
T sExZao
o el
(@) o w ow
= wy - O
o w=coc '
o [a)] )] o L (e} O [¢)] o [a)] O <G w
— 0 — — = -~ ~ - — o) T = S5
= N —
wEowssS 2
JZ x 3
oY uw ™
2sLum O
o <O Qxa mmm|
n = w
N > oo o03- 28 k=0
> (2 05 o
<=+ /SN ~
< _Aln L Nw = 0w Mn.
o T o
Oaown (7, =
o
| >
/ [ ) i ; "
T 1 1 . A v M
)OS0 0000000000000000)000000000 4 )OS 0000000000000 000000000000000000000000000000000000000000000000000000¢ 100000000000 00000000000000000000000001(
%:E::E::E:: 1000000000 1001 0000000000000000000000000000000000000)00000000000,000000000600006660¢ 1006U00000000000000000000000000000000¢ -— | L
1006(000000000000000000000000000000¢ 10011000000000000000000000000000000000000(0000000000000000000000000006004 10000000010000000000600000006000000060000000600066(
10060100000000000000000000000000000¢ 1006.70000000000000000000060000000000000000)0000000000000060000000600006060¢ 1000000000000000000000000000000000000000000060064 ("4
100600000000000000000000000600000004 1006 7900000000000000000000000000000000000(0000000000000000000000000006004 10000000010000000000600000006000000060000000600066(
10060(00000000000000000000000000000¢ 100000000000000000000000060000000000000000)00000000000000000000600006060¢ 100000000000000000000000000000000000000000006004 D
00000 1000000000000000000000000000000¢ 0000000000000 000000000000000000000000000000000000000000000000000000000¢ 0000000 00000000000000000000000000000000000001(
)OO 000 0000000000000 00000000000000004 )OO0 SL00000000000000000000000000000000000)00000000000000000000000000000( 100000000000 00000000000000000000000000000000004 S
1000000000000 0000000000000000060004 1 0000.0000000000000000000000000000000000(000000000000000000000000000004 1000000000000 0000000000000000006000000600600066(
100606 00000000000000000000000000000¢ 100000700060000000000000060000000000000000)000000000000000000000600000060¢ 1000000000000000000000000000000000000000000060064
100606 00000000000000000000000000000 00060090000000000000000000000000000000000000000000000000000000000000004 10000000010000000000600000000000000600000060000(
i Y T E
wn
~ n
W =l =T
< < o W w T E
-
b a/__ w o . — [72) = )
~ T < P o . <Y
O o w &= o w z
=T a o 4 x =) o, w
< < = O w T - oq S m —
[a1N ) m S>0n x 0 e S o = o D
W = uOD w O . < < =
Z — 00 > 4
o =z L
== () = w <
S w 50
wn T ©n
(%]
= z
(NS M

\

Nd 2T:S 2202/08/€ 8MP'100p PaJIANO| 9THIP 6TOIPA\(9TTL P!) JOOP P3ISANO| SUIMSING 9T Y|P “¥\SIMP\ZOOT-P ‘TOOTIP ‘000TP ‘6664P ‘TSSIP - [EINWGNS 1) 9TTO-7Z-IPI\SI00P dljgndal\sidaloid\:s



3/30/2022 5:22 PM

s:\projects\republic doors\tdi-22-0116 tdi submittal - dr551, dr999, dr1000, dr1001, dr1002\dwgs\4. dl416 outswing louvered door (id 7116)\rdf019 dl416 louvered door.dwg

*FASTENERS SHOWN ARE TYPICAL/MINIMUM
INSTALLATION ANCHOR

— 3/8"X5"  0.75"MIN. MIN. EDGE | SEETABLE2 nen.nlie
[]_ LAGBOLT D STRIKE FASTENED W/ (2) 1 Jralinives LR Tl g bes 2 CONCRETE/
=L\:@ INTERIOR x 1224 MS ; S5/t GROUTFILLED doors-frames
19) (0 19) (10 MASONRY
T ©© © £ T (SEE INSTALLATION
1 /ﬂ O NOTE 9,SHEET 1) MCKENZIE, TN 36201
| | | | | PH: (800) 799-3667 FX: (731) 352-2556
< S i éﬁ < G
R = | = = | T3] STRIKE FASTENED o Z4a g
@ @ ACTIVE INACTIVE toa| W/ (2) 17 x 12-24 MS 8 Ahg 7
< @ @ 2 2 Bk LE
<—>‘ 3.00" MIN. EMBEDMENT —  EXTERIOR | IN. EMBEDMENT, SEE TABLE 2 52 LEzais
a @ SE523
/N HORIZONTAL SECTION /PN HORIZONTAL SECTION Q) HORIZONTAL SECTION g8 | el
\7/ 3/8" X 6" LAG BOLT \7/ MORTISE LOCK WITH DEADLOCK \_7_/  EXPANSION BOLT WITH PIPE AND STRAP = £ q3s s
HINGE JAMB - 2X WOOD FRAME MORTISE LOCK JAMB - CONCRETE/MASONRY 3 O S g >
[~ 3/8"X5" 075" MIN. MIN. EDGE o P eATION ANCHOR o & > o ©
/ AC PO Dlst:?AGl\JECE STRIKE FASTENED W/ (2) 1" SII:E)IIES'-IF-,Q[B\II_CEEZ o el bes ot CONCRETE/ S T o =
INTERIOR x 12-24 MS ) "l GROUT FILLED u ° ’i(‘ "l o
19) (0 19) (0 19) (10 MASONRY = m =
T © © © © W 9O ' T (SEE INSTALLATION = & S
O NOTE 9,SHEET 1) REMARKS BY | DATE
_ ¢ 2018 IBC UPDATE  |cA B.28.2))
< E : <
: : | | 3 1ol | 2 _ 3| _STRIKE FASTENED
12) CN18) Y6C ACTIVE “ ./ 6 INACTIVE T T o W (2) 17 x12-24 s
®@ | @ @ | 8I [THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERI(]
-~ 500 win. evscouent = FXTERIOR ~ | N, emEDVENT, See TagE 2 o e
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
/K HORIZONTAL SECTION /L HORIZONTAL SECTION /NI HORIZONTAL SECTION B AL PREPARE ST sPcic
3/8" X 6" LAG BOLT CYLINDRICAL LOCK WITH DEADLOCK EXPANSION BOLT WITH PIPE AND STRAP
\ZJ/ HINGE JAMB - 2X WOOD FRAME \ZJ/ \Z/ CYLINDRICAL LOCK JAMB - CONCRETE/MASONRY
— 3/8"X5" 075" MIN. MIN. EDGE /_ghéSETTA,:EfglgN ANCHOR
7] LAGBOLT EDGE DISTANCE e

i3t CONCRETE/
| GROUTFILLED
MASONRY

DISTANCE INTERIOR SEE TABLE 2
< /

— (SEE INSTALLATION
@ NOTE 9,SHEET 1)
W :
< < '0?;»" _, &7
— ‘\ Ssl ........
&L 9 . : FLORI E 073778
O ®» @ @ T o TSI NE
4——‘ 3.00" MIN. EMBEDMENT ACTIVE EXTERIOR INACTIVE L—> MIN. EMBEDMENT, SEE TABLE 2 FBPE CERT. OF AUTHORIZATION No. 29575
/G HORIZONTAL SECTION /H\ HORIZONTAL SECTION 71\ HORIZONTAL SECTION
3/8" X 6" LAG BOLT HCF SURFACE VERTICAL ROD W/ PANIC EXPANSION BOLT WITH PIPE AND STRAP
W HINGE JAMB - 2X WOOD FRAME W \7/ SVR LOCK JAMB - CONCRETE/MASONRY oAt 03.16.17
TABLE 2: CONCRETE ANCHORS AT JAMBS : =
. - . . DWG. BY: CHK. BY:
Concrete Min. 3000 psi CMU Min. 2000 Psi MSS H FN
Anchor Embedment | Min. Edge | Embedment |Min. Edge
(in) Dist. (in) (in) Dist. (in) SCALE: NTS
3/8" ITW/Redhead Dy nabolt 15 225 1.875 2.25 pwG.# RDFO019
3/8" FH Powers Power-Bolt 2 2.5 1.875 25 SHEET:
3/8" FH Powers Lok Bolt AS 1.625 2.5 1.25 25 7
3/8" Hilti HLC-FPH Sleeve Anchor 1.25 2.25 1.25 25

OF9/




3/30/2022 5:22 PM

ORDER SIZE PLUS 1-3/4"

s:\projects\republic doors\tdi-22-0116 tdi submittal - dr551, dr999, dr1000, dr1001, dr1002\dwgs\4. dl416 outswing louvered door (id 7116)\rdf019 dl416 louvered door.dwg

*FASTENERS SHOWN ARE TYPICAL/MINIMUM \
, 27 Republie
—2.141 W doors-frames
—1.00" 1
. Ay
fj\ 155 REPUBLIC DRIVE
[ MCKENZIE, TN 38201
3.265" N PH: (800) 799-3667 FX: (731) 352-2556
Y
N N ]
- — [ n O o
A 5 g =5,
~F < 9
slind S 2 5 £orees
N w_| . 2z i : E,,
2B 5 3 Szziis
1.718"— W | a © Ogéaaz
1.179"— , e % S=<Zoxi
14 GAUGE STEEL REINFORCING Eggg r— FRAME - -t
o] — S
16 GAGE 5 3/4" DEPTH FRAME WITH MITERED PLATE AT LOCK STRIKE LOCATION 9 UE’ ) § =
CORNER CONSTRUCTION WITH FOUR INTEGRAL TABS %] S o
WHICH INTERLOCK THE JAMBS TO THE HEAD, WITH DETAIL X g ; 2 g
REINFORCEMENT, PART # 4 OR 4A e ————— w o=
DETAIL Y LOCK REINFORCEMENT a z & | 2
u Q a =
— = S |B E
- o g
(4) DIMPLE ==
BURR SIDE FOR 0.250
0.046+0.003 AND 0.375 DIA. HOLES REMARKS BY | DATE
SECTION A-A 9GA 2018 IBC UPDATE CA [3.28.22
\ I!I I!I‘ I!I I!I I!I I!I I [
e A
0.033 HEIGHT L/ T
OF PROJECTION
SPOTS 5/16" (4) TYP TOP [THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERI(
2.0" Typ 12.0" Max AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFI]Q
- _l- |_ —I MUST BE FLAT SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
L |=—— THRUBOLTS 8-32 ) ] - P FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
MALE & FEMALE ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.
31/32" 55/8"
— \/ N
0 (4) DIMPLE
. /N EN T B U )~ 0.046+0.003
E LOUVER BLADES GAGE EDGE
© Lt 0/ R 3/16 (4) TYP.
E n SECURITY GRILL/BLADES AREA d 0 [ ‘
g =
o NN T
SECURITY GRILLE <+ @ & 5 :
E BOTH SIDES ° 15/8 4 —-q}— —p— = > A $ Lo I - —11/4 " ¢ s
& o _ . * e § $@® Reptblic ¢ pur ¢ ". A 7 4
- »| o
L~ NG A O
‘ L (1 ? ‘\\ Ssy 2 e"‘.?"
L FLOR @%o 73778
BUILDING DROPS, INC
\/ 71/2 398 E. DANIA BEACH BLVD. #338
DANIA BEACH, FL 33004
= . P DETAI I_ Z FBPE CERT. OF AUTHORIZATION No. 29578
HINGE REINFORCEMENT
LOUVER PROFILE HOLE PATTERN (ANCHORING)
pate: 03.16.17
DETAILJ DWR'/'BgS CHKI'_?E N
LOUVER DETAIL & ANCHOR LAYOUT
SCALE:
AIR LOUVERS MODEL 1500A NTS
MATERIAL: 18 GAUGE COLD ROLLED STEEL LOUVER BLADES owG.# RDFO19
12 GAUGE COLD ROLLED STEEL SECURITY GRILLE SHEET:
MAX SIZE 25.625" X 66.125" 8
oF 9/




3/30/2022 5:22 PM

s:\projects\republic doors\tdi-22-0116 tdi submittal - dr551, dr999, dr1000, dr1001, dr1002\dwgs\4. dl416 outswing louvered door (id 7116)\rdf019 dl416 louvered door.dwg

BILL OF MATERIALS

*FASTENERS SHOWN ARE TYPICAL/MINIMUM

2.588

8.314

ITEM NO. DESCRIPTION MATERIAL MANUFACTURER @ JAMB FRAME HEADER FRAME
1 96" X 5.75" DOUBLE SWING JAMB PAIR OR SINGLE JAMB 0.053" STEEL REPUBLIC DOOR & FRAMES '. 2.588 — =l
2 96" X 5.75" FACE DOUBLE OPENING HEADER 0.053" STEEL REPUBLIC DOOR & FRAMES “
2A 52" X 5.75" SINGLE DOOR HEADER 0.053" STEEL REPUBLIC DOOR & FRAMES 0,625 OR @
3 HINGE REINFORCING FRAME 0.132" STEEL REPUBLIC DOOR & FRAMES ’
HEADER SLEEVE REINFORCEMENT 14 GA. (.072") X 5.6875" X " -
4 FULL LENGTH HEADER 0.072" STEEL REPUBLIC DOOR & FRAMES 1 /. [
HEADER FLAT STOCK REINFORCEMENT 10 GA. (.125") X 1.5" X " 225 575 0.625
4A FULL LENGTH HEADER 0.125" STEEL REPUBLIC DOOR & FRAMES I<— 2.25 ——l ?
5 BASE ANCHOR 1.875" X 1.875" 0.053" STEEL REPUBLIC DOOR & FRAMES _1 . 5.75
TOP CHANNELS 16 GA. X 1.677" X 0.62" CHANNEL FULL LENGTH "
6A DOOR PANEL WIDTH 0.053" STEEL REPUBLIC DOOR & FRAMES
6B EEOJE%_'Y'OCFHSA(')\'C';':LPSA}\IGEEC\'/I)I()%f” X 0.62" CHANNEL FULL 0.053" STEEL REPUBLIC DOOR & FRAMES
m m CHANNELS ROCKWOOD 585 SURFACE BOLT
6C :LI\IISSTCHANNELS 16 GA. X 1.677" X 0.62" CHANNEL FULLDOOR | 0o a1ep, REPUBLIC DOOR & FRAMES @@@@
n n 2
6D h(EICGKHcTHANNELs 16 GA.X 1.677" X 0.62" CHANNELFULLDOOR | o (o srpr) REPUBLIC DOOR & FRAMES ’_, »‘
——‘ 1.677 ’«— .
7C  |AIR LOUVER 1500A W/ SECURITY GRILL STEEL AIR LOUVERS INC. { #ﬁ%éé: sST%iézT)o o)
8A DORMA ML9953D MORTISE LOCK W/ DEADBOLT STEEL DORMA 0.62 FRAME AND (2)
8B DORMA CL753D STANDARD LATCH STEEL DORMA f THROUGH EACH S
8C  |DORMA DB660D DEADLOCK STEEL DORMA ELR:EKET TO DOOR
8D HCF 9400 SURFACE VERTICAL ROD W/ PANIC DEVICE STEEL PRECISION REINFORCEMENT
8E ROCKWOOD 585 SURFACE BOLTS STEEL ROCKWOOD — 7
8F DORMA 340 STRIKE PLATE STEEL DORMA 1-1|56<— 1.484
8G DORMA 426 STRIKE PLATE STEEL DORMA ' 5.679 I
8H 47/8" ASA STRIKE STEEL DORMA ) 6‘26
8l STRIKE 5001 118 STEEL DORMA
CONTINUOUS HARDWARE REINF. 14 GA. (0.072") 1.677" X 6" X * 1156 b D
9A (DOOR HEIGHT - 11") 0.072" STEEL REPUBLIC DOOR & FRAMES . . 35;.75 —
n n n : - 1.66
98 EXIT DEVICE REINFORCEMENT 14 GA. (0.072") 1.677" X 5.313" X | g 075w s7gg| REPUBLIC DOOR & FRAMES 65
14 _L
9D ZR8A7I\é|E STRIKE REINFORCEMENT PLATE 14 GA. ANSI/ASA 0.072" STEEL REPUBLIC DOOR & FRAMES
n n n n n I 5'679 I 0'75
9F CLOSER REINFORCEMENT 14 GA. (0.072") X 1.677" X 6" X 18 0.072" STEEL REPUBLIC DOOR & FRAMES
NAT. GUARD PRODUCTS 803V
10 DOOR SKINS FY=45.7 KSI MIN. 0.53" STEEL REPUBLIC DOOR & FRAMES 1.499
11 NATIONAL GUARD PRODUCTS 803V ALUMINUM NATIONAL GUARD PRODUCTS _ 1 | 5
12 DOOR HINGE REINFORCEMENT 9 GA. (0.132") X 7.5" X 1.625" 0.132" STEEL REPUBLIC DOOR & FRAMES 1.75 '
ANCHORS (SEE SHEET 5)
13 3/8" LAG BOLT, 3/8" DYNABOLT ITW/RED HEAD, VARIES ITW / RED HEAD
& 1/4" ITW (SILL ONLY)
14 NATIONAL GUARD PROD. 5050B-20 VINYL BULB NATIONAL GUARD PRODUCTS @ REESE 35037'3 ALUM. DRIP CAP
15 ALL PURPOSE SILICONE CAULK SILICONE ] @ INACTIVE LEAF ASTRAGAL
16 INACTIVE LEAF ASTRAGAL 14 GA. (0.072") X 1.7" X FULL DOOR 0.072" STEEL REPUBLIC DOOR & FRAMES
HEIGHT 1.013
17 16 GA. CUT OUT REINFORCEMENT 0.053" STEEL REPUBLIC DOOR & FRAMES 1.750
18 PBB - STANDARD WT. 4 1/2" X 4 1/2" X .134" THICK HINGES PBB A ‘
19 HONEYCOMB CORE TYPE 99-0-3/4 (POLY OPT.) KRAFT PAPER REPUBLIC DOOR & FRAMES \
T - 0.5 f VINYL
20 )s(ulef\CE BOLT ANGLE REINFORCEMENT 7 GAUGE X 0.175" X 15| 1 oc o1pgL ROCKWOOD 14 GA. 17
. REESE 353A ALUMINUM DRIP
21 REESE 353A ALUMINUM DRIP CAP ALLOY 6063-T5 RESSE CAP WITH VINYL FLAP AT HEADER -
2 2/I4(3RTISE LOCK REINFORCEMENT 14 GAUGE X 1.677" X 5.313" X | () (2o s7gL REPUBLIC DOOR & FRAMES NOTE: ALL DIMENSIONS L = FULL DOOR HEIGHT
SHOWN ARE IN INCHES.
23 DEAD LOCK REINFORCEMENT 16 GAUGE X 3" X 3" 0.053" STEEL REPUBLIC DOOR & FRAMES
24 CYLINDRICAL LOCK REINFORCEMENT 16 GAUGE X 3" X 2.5" 0.053" STEEL REPUBLIC DOOR & FRAMES

oors-frames

155 REPUBLIC DRIVE
MCKENZIE, TN 38201
PH: (800) 799-3667 FX: (731) 352-2556

J
%) 0
x B Za £
O w \E¢ 8
O = ‘g:gwwg
a o aaias
. a 03400““0
=S x2®2Zg3?
AN Qc5a5e
o O S383%3
(TR Oasa2y
o - -
w ﬂ —<Z(ZQ.EB
> I N33 &
o] = — §
(@] [im| 3?
- = . ™
o < > wn
- > [aa] a-
< [ o g
= O L =
[ o []
.e ) < =
Y o & =
E o =
= o =
==K
REMARKS BY | DATE

2018 IBC UPDATE CA 3.28.22

[THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERI(]
[AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFI]
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

t ;
.“ Ss"l ........

FLOR] g; S %o 73778

BUILDING DROPS, INC
398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004
FBPE CERT. OF AUTHORIZATION No. 29578

pAtE:  03.16.17

DWG. BY: CHK. BY:
MSS HFN

SCALE: NTS

ows.# RDF019

SHEET:

9

OF9)




	Sheets and Views
	RDF019 DL416 Louvered Door-1
	RDF019 DL416 Louvered Door-2
	RDF019 DL416 Louvered Door-3
	RDF019 DL416 Louvered Door-4
	RDF019 DL416 Louvered Door-5
	RDF019 DL416 Louvered Door-6
	RDF019 DL416 Louvered Door-7
	RDF019 DL416 Louvered Door-8
	RDF019 DL416 Louvered Door-9


		2022-05-27T13:35:53-0400
	Hermes F. Norero, P.E.
	I am approving this document




